Calculus | Homework #5 Section 3.2
19. We solve O = 2(F —32) for I 2C = ¥ — 32 = " = 2 + 32. This gives us a formula for the inverse function, that

15, the Fahrenheit temperature ' as a function of the Celsius temperature
F = —459.67 = %f'-' + 32 > —459.67 = %f'-' = —d31.67 = > —273.15, the domamn of the inverse function
= z= ¢Iny. Interchange v and 1y = VInz So f71(z) = Vlnx

23 y=flz)=¢" = Iny=ua"

l + F'I €T = = - ] =
Eﬁ.y—_i"[.r]l—l_f_m = gy =14+ = y—l=gye"+e = y—1l=e{y+1l) =
ef — ¥ ! - r=InfZL =}, Interchange x and : y = In T~ ). 80 S Hz) =1In r—1 .
v+1 y+1 ' L x+1

Note that the domain of £~ is x| = 1.
3
By=flz)=2—¢" = ' =2—y = x=In(2—y) Interchange i
zand iy = In(2 — ). S0 f~(z) = In(2 — x). From the graph, we see —f;\%
that f and =" are reflections about the line y = = -3 —— 3
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3/ A0 =1 = L =0adf(z)=s"4+x+1 = [ffz)=>32"+land f{0) = L. Thus,
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53 In(1+ 2z*) + 2 Inw — Insinz = In{1 + &%) + Inzt? —Insinx = In[(1 + #?)/T| — Insinz = In
r = e . Thus, the domain of f

Ine = -2 =

Ltz

68. (a) For f(z) = In(2 + Inx), wemust have 2+ Inx >0 =
(byy=flr)=In(2+mhz) = #=2+hr = Inr=e"—-2 = z=¢" 2 Interchangerandy: y =" *

is (&%, oo).
So f~{z) = &= 2. The domain of %, as well as the range of f, is B
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7. lim [In{l +z°) — In{l + )] = lim In
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) = oo, since the limit in



